
Puissances de Dix (A)

21 ÷ 1 = 41 ÷ 1 =
21 ÷ 10 = 41 ÷ 10 =
21 ÷ 100 = 41 ÷ 100 =
21 ÷ = 41 ÷ =
21 ÷ = 41 ÷ =

43 ÷ 1 = 89 ÷ 1 =
43 ÷ 10 = 89 ÷ 10 =
43 ÷ 100 = 89 ÷ 100 =
43 ÷ = 89 ÷ =
43 ÷ = 89 ÷ =

80 ÷ 1 = 82 ÷ 1 =
80 ÷ 10 = 82 ÷ 10 =
80 ÷ 100 = 82 ÷ 100 =
80 ÷ = 82 ÷ =
80 ÷ = 82 ÷ =

69 ÷ 1 = 25 ÷ 1 =
69 ÷ 10 = 25 ÷ 10 =
69 ÷ 100 = 25 ÷ 100 =
69 ÷ = 25 ÷ =
69 ÷ = 25 ÷ =

93 ÷ 1 = ÷ 1 =
93 ÷ 10 = ÷ 10 =
93 ÷ 100 = ÷ 100 =
93 ÷ = ÷ =
93 ÷ = ÷ =
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1 000 1 000
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10 000 10 000
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5 776
5 776
5 776

1 000 5 776 1 000
10 000 5 776 10 000


